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Directions(l-S):ﬁ'ﬂ'?l'l!Wﬁﬁwmﬁ'gﬂ'mﬁﬁﬁmmﬁ ? A
T 7w @ s 13 17 F Fla w1 ARET w7 & wew § 3 3EF AR e
ECLCIE L

Statements:
M=>=>U==L=N;L=Y>=A
Conclusions

LY <N

Q1 ILM=>=N

(a) a1 T &

(b) adl | TcT &
(QAAA 1AM NTT &
()T ar 1T 18T §

(e) 13X g acT §

L1Difficulty 1

QTagsInequalities Reasoning

Statements:
J]=2A=D=E ;L<A<M
Conclusions

LM<]

g2 1I>L

(a) a1 9T &

(b) ol | TcT §
(QIT AT 1T 1FT §
()T ar I 18T &

(e) I 3R ne=t ac g
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Statements:
Y>F<0<P;F=U<T
Conclusions

L.Y>=P

Q3 ILT<F

(a) Fad |1 TT &

(b)haeT 1 T &
(QIAT AT 1A 1TT &
(F A 1T 1T §
(e) 13 gt a7 &
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Statements:
M>H=Y<R<U=Z=E
Conclusions
ILM=R

Q4. ILZ>R

(a)hadT | T §

(b)Fad | T §
@Irar 1A NaT g
OEGIRERE: RS

(e) 13X gl T §
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Statements:
P>Q<C<B=M>D
Conclusions

LM>Q

Q5HB=Q
(a) Fad | TT &

(b)hael 1 T &
(QIT AT 1T 1FT §
OEGRERE: RS

(e) 13 gt a7 &
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Directions (6-10): 3T WA A Fya # (AffieT dcal & g gau Fr T 3w g1 s
FY1 F 91 Q ey e v §:

Ife A%B &7 31T A, BH &3T 8T &

ABF ITABIA TN TSI IR A& RR ¢
A@B T 3T A, BY oOleT A&7 &

A#B HT 3T A, B dr @ler 3R o & /e §
A&BHT 3T A B ar 93T 3R T & orer g

Q6. Statements: A@D#C%B*E
Conclusion:

LC#A

I[LA@C

(a) IS Fael Ay | 31TaTOT AT B
(b) & et fAsHY 11 3TEROT LT B
(o) e a1 sy | a1 T 11 3F6TETOT & &
(d) T o @ w1 & 1l 3eTavor e &

(e) TfE =T fo¥sehy | 3 11 31TEROT e &
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Q7. Statements: P % L% M *N *Q



Conclusion:
LP*Q
ILQ#M

(a) A& Faer sy | TETOT T B

(b) & et fAshy |1 3HTEROT LT B

(c) e ar sy | a1 T 1l 36TEROT &l &
(d) afe & ar forshy 1o 8 1l 3TERoT e B
(e) Tfe al=At fo¥sehy | 3R 11 31TEROT e &
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Q8. Statement: S% T&U#V @ X
Conclusions:

LU#S

ILS&T

(a) IS Farel sy | TETOT AT B

(b) & et fAshy |1 3TEROT LT B

(c) e a1 sy | a1 ar 11 36TEROT & &
(d) T o @ fsHy |57 & 1| 3eTazor e &
(e) Tfe @l fo¥sehy | 3R 11 31TEROT T &
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Q9. Statement: M % N*O#P & Q
Conclusions:

Q@M

ILP*M

(a) IS Faer s | 3regavor e Bl

(b) TS harer ASHY 11 HTEIOT T B

() e a1 fsey | a1 v 11 36THETOT & &
(d) T o @ w17 & 1l 3eTavor e &
(e) TfE al=AT fo¥sehy | 3 11 31TEROT T &
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Q10. Statement: U% V% W &X % Y
Conclusions:



LY#V
ILW#U

(a) A& aer sy | TETOT T B

(b) & et fAshy |1 HTEROT LT B

() afe ar sy | a1 &l 11 36TEROT &l &
(d) afe &1 ar forshy | o & 1l 3TERoT e B
(e) TS QAT TSy | 3 11 3TEROT T B
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Ql1.5ao% A >B # fAftad & & 7 3k E> B % AR9d ¥ & 39T T &
T F7 7 RU 7} cuos & wod Red (?) : A=f@d & I e gdier & iy
gyfaeaRa fear ST afge?

A=C?B<D?E
@)z, <

(b) >, =

(©<>

(d)=,>

(e) none of these
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Q12.c¥sTh A>E WY & ESR & ARG 30 & ¥ 99 & fAv Ry ¥ e+ &
HH A Rad T F FAWET ¥ g A F4 ) FAefaf@a § @ Fa gdis
@RI gfaeaia & @fee?

H_A_R

@==2,
(b) >, 2,
<

ool

‘v || ‘u |vI
v IN v IV DN

(e) >; >, Zr -
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Q13.5q5% H>S 3 A > E % fAaftad 30 ¥ 3wy a9« & Qv Ru & =uo+ #i
T A & FH A Rad F=E # FAw (@ F g 799 747 #) fArafaf@a # @
HleT gl @R IfaedTiid FT= @ifge?

H_A_R_S_E



(a)s, <%, =
(b)<==>
(©)>= =<
d)>=7=2
(e)>>=<
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Directions (14-15): o7 weat &, Qe dcal & g ey Hy=at & T 737 81 Fa9
F a1 sy 1 Ru 71w Fyat & 3mur W Aswst &1 regye fAfee it sfRa
3¢ FT 9497 hifav] IR AT

Statements:
S<Z,Q>Rz(CZz2QC>K
Conclusions:

I.5=R

Q14. ILK<Z
(a) 3¢ Faa T~y | TT &

(b) Ifg Faa Ay || G &

(c) afe fasy | 3R 1l gt Icg &
(d)afg ar ar Fsey 137 13T §
(e)afe o7 ar shy |1 1TT &
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Statements:
Q>Mz2]=RJ>KM<A
Conclusions:

LRE<A

QlS_[].K{Q

(a) I haer sy | T@cT &

(b) T el sy 1 TcT &

(c) Tfe Ty |3 11T T &
(d)afe a7 ar sy (a1 1o §

(e)Ifg F O shy I Il TFeT &
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Solutions

S1. Ans. (d)
S2. Ans. (b)
S3. Ans. (d)
S4. Ans. (b)
S5. Ans. (c)

S6. Ans.(d)

Sol. Conclusion:

[. C# A (Not True)
[I. A@ C(Not True )

S7. Ans.(e)

Sol. Conclusion:
.P*Q(True)
II.Q # M( True)

S8. Ans.(c)

Sol. Conclusions:
[. U #S(Not True)
[I. S &T( Not True)

S9. Ans.(c)

Sol. Conclusions:
[.Q@ M ( Not True)
I. P*M ( Not True)

S10. Ans.(d)

Sol. Conclusions:
.Y # V(Not True)
II. W # U(Not True )

S11. Ans.(e)
Sol.

S12. Ans.(e)
Sol.

S13. Ans.(a)
H<A<R<S5=E
Sol. In this expression H = S and A > E both are false.



S14. Ans.(b)
Sol. . S >R (False)
II. K< Z(True)

S15. Ans.(b)
Sol. I. R < A(False)
IL K< Q (True)



